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PROBABILITY

1. Find the probability of getting a head when
a coin is tossed once. Also find the probability

of getting a tail.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_iFgNqjFxSUID

° Watch Video Solution

2. A bag contains a red ball, a blue ball and an
yellow ball, all the balls being of the same size
. Manasa takes out a ball from the bag without
looking into it. What is the probability that
she takes a (i) yellow ball? (ii) red ball? (iii) blue

ball?

o Watch Video Solution



https://dl.doubtnut.com/l/_iFgNqjFxSUID
https://dl.doubtnut.com/l/_3Ioc49QCbmmG

3. A bag contains a red ball, a blue ball and an
yellow ball, all the balls being of the same size
. Manasa takes out a ball from the bag without
looking into it. What is the probability that
she takes a (i) yellow ball? (ii) red ball? (iii) blue

ball?

o Watch Video Solution

4. A bag contains a red ball, a blue ball and an

yellow ball, all the balls being of the same size


https://dl.doubtnut.com/l/_MkAzDNRP8H08
https://dl.doubtnut.com/l/_EKH74KIyteXh

. Manasa takes out a ball from the bag without
looking into it. What is the probability that
she takes a (i) yellow ball? (ii) red ball? (iii) blue

ball?

° Watch Video Solution

5. Suppose we throw a dice once. What is the
probability of getting a number greater than

47

° Watch Video Solution



https://dl.doubtnut.com/l/_EKH74KIyteXh
https://dl.doubtnut.com/l/_zBfYRYPQsr22
https://dl.doubtnut.com/l/_mmX6nDa8Ytk5

6. Suppose we throw a dice once. What is the
probability of getting a number less than or

equal to 47

° Watch Video Solution

7. One card is drawn from a well-shuffled deck
of 52 cards. Calculate the probability that the

card will not be an ace.

° Watch Video Solution



https://dl.doubtnut.com/l/_mmX6nDa8Ytk5
https://dl.doubtnut.com/l/_H50RvU3zlqJM
https://dl.doubtnut.com/l/_tuckw7KX2asn

8.Sangeeta and Reshma , play a tennis match.
It is known that the probability of sangeeta
winning the match is 0.62. What is the

probability of Reshma winning the match?

° Watch Video Solution

9. Sarada and Hamida are friends. What is the
probability that both will have different

birthdays?

° Watch Video Solution



https://dl.doubtnut.com/l/_tuckw7KX2asn
https://dl.doubtnut.com/l/_cf4gBYuoAomH
https://dl.doubtnut.com/l/_T5ZKyLvZAEBE

10. Sarada and Hamida are friends. What is the
probability that both will have the same

birthday?(ignoring a leap year)

o Watch Video Solution

11. There are 40 students in Class X of a school
of whom 25 are girls and 15 are boys. The class
teacher has to select one student as a class
representative. She writes the name of each
student on a separate cards, the cards being

identical . Then she puts cards in a box and


https://dl.doubtnut.com/l/_T5ZKyLvZAEBE
https://dl.doubtnut.com/l/_UtdouI62awCl

stirs them thoroughly. She then draws one
card from the box.What is the probability that

the name written on the card is the name of a

girl

o Watch Video Solution

12. There are 40 students in Class X of a school
of whom 25 are girls and 15 are boys. The class
teacher has to select one student as a class
representative. She writes the name of each

student on a separate cards, the cards being


https://dl.doubtnut.com/l/_UtdouI62awCl
https://dl.doubtnut.com/l/_fjtYXcuZqRYd

identical . Then she puts cards in a box and
stirs them thoroughly. She then draws one
card from the box.What is the probability that

the name written on the card is the name of a

girl

o Watch Video Solution

13. Which of the following situations have
equally likely events?
1) getting 1or 2 or 3 or 4 or 5 or 6 when a dice

is rolled


https://dl.doubtnut.com/l/_fjtYXcuZqRYd
https://dl.doubtnut.com/l/_wXLZeks9iRkZ

2) Winning or loosing a game

3) Head or Tail, when a coin is tossed

° Watch Video Solution

14. Outcomes of which of the following
experiments are equally likely.
Selecting a different colour ball from a bag of

5 red balls, 4 blue balls and 1 black ball.

o Watch Video Solution



https://dl.doubtnut.com/l/_wXLZeks9iRkZ
https://dl.doubtnut.com/l/_5kYx6fpZls5c

15. Which of the following are equally likely

events?

° Watch Video Solution

16. Outcomes of which of the following
experiments are equally likely.
Units place of a two digit number selected

may by 0,1,2,3,4,5,6,7,8 or 9.

o Watch Video Solution



https://dl.doubtnut.com/l/_MKSciZyj9MO7
https://dl.doubtnut.com/l/_mzqtDgw0V8A0
https://dl.doubtnut.com/l/_CpOjcTUagcAb

17. Outcomes of which of the following
experiments are equally likely.
Selecting a different colour ball from a bag of

10 red balls, 10 blue balls and 10 black balls.

o Watch Video Solution

18. Outcomes of which of the following
experiments are equally likely.

Raining on a particular day of July.

o Watch Video Solution



https://dl.doubtnut.com/l/_CpOjcTUagcAb
https://dl.doubtnut.com/l/_oPFkYYJmTWpn

19. Are the outcomes of every experiment

equally likely.

° Watch Video Solution

20. Give examples of 5 experiments that have
equally likely outcomes and five more
examples that do not have equally likely

outcomes.

o Watch Video Solution



https://dl.doubtnut.com/l/_7lY5J8I9aKwL
https://dl.doubtnut.com/l/_eEcO2nkluf3n
https://dl.doubtnut.com/l/_Ahao1Rg6ck9e

21.1s getting a head complementary to getting

a tail ? Give reasons.

° Watch Video Solution

22. In case of a die is getting a 1
complementary to events getting 2, 3,4, 5,6 ?

Give reasons for your answer.

° Watch Video Solution



https://dl.doubtnut.com/l/_Ahao1Rg6ck9e
https://dl.doubtnut.com/l/_qlAr4pCUBSyu

23. Write of five new pair of events that are

complementary.

° Watch Video Solution

24. A child has a dice whose six faces show the
letters A,B,C,D,E and F. The dice is thrown once.

What is the probability of getting A?

° Watch Video Solution



https://dl.doubtnut.com/l/_guyg9piFfTzK
https://dl.doubtnut.com/l/_5xm2Ho8H926N

25. A child has a dice whose six faces show the
letters A,B,C,D,E and F. The dice is thrown once.

What is the probability of getting D?

o Watch Video Solution

26. Which of the following cannot be the
probability of an event?

2.3

o Watch Video Solution



https://dl.doubtnut.com/l/_hNgDQpJVv4cS
https://dl.doubtnut.com/l/_gi3nDLQuhm8t
https://dl.doubtnut.com/l/_v2yVSL0IoOPW

27. Which of the following cannot be the
probability of an event?

-1.5

o Watch Video Solution

28. Which of the following cannot be the
probability of an event?

15%

o Watch Video Solution



https://dl.doubtnut.com/l/_v2yVSL0IoOPW
https://dl.doubtnut.com/l/_WruY3WBJpFG6
https://dl.doubtnut.com/l/_lI90godb9mAO

29. Which of the following cannot be the
probability of an event?

0.7

o Watch Video Solution

30. You have a single deck of well shuffled
cards. Then,
What is the probability that the card drawn

will be a queen?

° Watch Video Solution



https://dl.doubtnut.com/l/_lI90godb9mAO
https://dl.doubtnut.com/l/_yaLVG9XuqFXx
https://dl.doubtnut.com/l/_9Xod9NDoPFEG

31. What is the probability that it is face card?

o Watch Video Solution

32. What is the probability that it is a spade?

o Watch Video Solution

33. What is the probability that is the face card

of spades?

o Watch Video Solution



https://dl.doubtnut.com/l/_9Xod9NDoPFEG
https://dl.doubtnut.com/l/_yFHSzNADvBsY
https://dl.doubtnut.com/l/_zFG2yi1pXHx6

34. What is the probability it is not a face

card?

° Watch Video Solution

35. Why is tossing a coin considered to be a
fair way of deciding which term should get the

ball at the beginning of any game?

° Watch Video Solution



https://dl.doubtnut.com/l/_zFG2yi1pXHx6
https://dl.doubtnut.com/l/_7xd6UnkFoL2z
https://dl.doubtnut.com/l/_QeI6TjCzMPkS
https://dl.doubtnut.com/l/_vKjIrhjQiVBJ

36. Can ; be the probability of an event?

Explain.

o Watch Video Solution

37. Which of the following arguments are
correct and which are not correct? Give
reasons. If two coins are tossed
simultaneously, there are three possible
outcomes-tow heads, two tails or one of each.
Therefore, for each of these outcomes, the

1
probability is 3



https://dl.doubtnut.com/l/_vKjIrhjQiVBJ
https://dl.doubtnut.com/l/_5mDNd0fszLjN

o Watch Video Solution

38. Which of the following arguments are
correct and which are not correct? Give
reasons. If a dice is thrown, there are two
possible outcomes an odd number or an even
number. Therefore, the probability of getting

1
an odd number is 3

o Watch Video Solution



https://dl.doubtnut.com/l/_5mDNd0fszLjN
https://dl.doubtnut.com/l/_JeedJQe6hDYy

39. Complete the following statements:
Probability of an event E+Probability of the

event 'not E'=

o Watch Video Solution

40. Complete the following statements:
The probability of an event that is certain to

happenis _ such an event is called

o Watch Video Solution



https://dl.doubtnut.com/l/_VVRkZlngr6Ez
https://dl.doubtnut.com/l/_LFzd8fV3bkpn
https://dl.doubtnut.com/l/_cA2KO8iKJdTB

41. Complete the following statements:
The probability of an event that is certain to

happenis _ such an event is called

o Watch Video Solution

42.Complete the following statements:
The sum of the probabilities of all the

elementary events of an experiments is .

o Watch Video Solution



https://dl.doubtnut.com/l/_cA2KO8iKJdTB
https://dl.doubtnut.com/l/_lfd7RkQzzAuv
https://dl.doubtnut.com/l/_jzcCNwGR17Pu

43. Complete the following statements:
The probability of an event is greater than or

equal to

o Watch Video Solution

44. Which of the following experiments have
equally likely outcomes? Explain.
A driver attempts to start a car. The car starts

or does not start.

° Watch Video Solution



https://dl.doubtnut.com/l/_jzcCNwGR17Pu
https://dl.doubtnut.com/l/_OMBzUYIGcQkQ
https://dl.doubtnut.com/l/_AFSOZWCFAbmt

45. Which of the following experiments have
equally likely outcomes? Explain.
A player attempts to shoot a basket-ball.

She/HE shoots or misses the shot.

o Watch Video Solution

46. Which of the following experiments have
equally likely outcomes? Explain.
A trial is made to answer a true -false

question. The answer is right or wrong.

l o Watch Video Solution


https://dl.doubtnut.com/l/_AFSOZWCFAbmt
https://dl.doubtnut.com/l/_ESVHoXr23Ms4

47. Which of the following experiments have
equally likely outcomes? Explain.

A baby is born. IT is a boy or a girl.

o Watch Video Solution

48. IF P( E)=0.546, what is the probability of

"not E"?

o Watch Video Solution



https://dl.doubtnut.com/l/_ESVHoXr23Ms4
https://dl.doubtnut.com/l/_JuglmV4TjN70
https://dl.doubtnut.com/l/_Sicj6JkDnTCu

49. A bag contains lemon flavoured candies
only. Malini takes out one candy without
looking into the bag what is the probability
that she takes out

an orange flavoured candy?

o Watch Video Solution

50. A bag contains lemon flavoured candies
only. Malini takes out one candy without

looking into the bag what is the probability


https://dl.doubtnut.com/l/_qh73NbafmRYS
https://dl.doubtnut.com/l/_t9PqhfYaOPld

that she takes out

a lemon flavoured candy?

° Watch Video Solution

51. Rahim removes all the hearts from the
cards. What is the probability of

picking out an ace from the remaining pack.

° Watch Video Solution



https://dl.doubtnut.com/l/_t9PqhfYaOPld
https://dl.doubtnut.com/l/_5QgBL7KohVRv

52. Rahim removes all the hearts from the
cards. What is the probability of

picking out a diamond.

o Watch Video Solution

53. Rahim removes all the hearts from the
cards. What is the probability of

picking out a card that is not a heart.

o Watch Video Solution



https://dl.doubtnut.com/l/_1f3CtV3NLGpJ
https://dl.doubtnut.com/l/_CJhmOqPWftnT
https://dl.doubtnut.com/l/_GYXQyVj6chJC

54. Rahim removes all the hearts from the
cards. What is the probability of

Picking out the ace of hearts.

o Watch Video Solution

55. It is given that in a group of 3 students, the
probability of 2 students not having the same
birthday is 0.992.What is the probability that

the 2 students have the same birthday?

o Watch Video Solution



https://dl.doubtnut.com/l/_GYXQyVj6chJC
https://dl.doubtnut.com/l/_LM0EuAimPNp0

56. A die is thrown once. Find the probability

of getting a prime number,

° Watch Video Solution

57. A die is thrown once. Find the probability

of getting a number lying between 2 and 6.

o Watch Video Solution



https://dl.doubtnut.com/l/_3E6vd8V6ZvTr
https://dl.doubtnut.com/l/_H3n47qkbylAu

58. A die is thrown once. Find the probability

of getting an odd number.

o Watch Video Solution

59. What is the probability of drawing out a

red king from a deck of cards?

o Watch Video Solution



https://dl.doubtnut.com/l/_OXoXbaEKwoLO
https://dl.doubtnut.com/l/_vgQahGnUFpNp

60. A box contains 3 blue,2 white and 4 red
marbles. IF a marble is drawn at random from
the box, what is the probability that it will be

blue?

o Watch Video Solution

61. A box contains 3 blue,2 white and 4 red
marbles. IF a marble is drawn at random from
the box, what is the probability that it will be

blue?

| & I


https://dl.doubtnut.com/l/_rHtXgTPImoCH
https://dl.doubtnut.com/l/_bNUJ8kCnpd5h

| ¥ Watch Video Solution |

62. A box contains 3 blue,2 white and 4 red
marbles. IF a marble is drawn at random from
the box, what is the probability that it will be

red?

o Watch Video Solution

63. Take any word problem from your textbook,
make a mathematical model for the chosen

problem and solve it.


https://dl.doubtnut.com/l/_bNUJ8kCnpd5h
https://dl.doubtnut.com/l/_os23asaGVwZH
https://dl.doubtnut.com/l/_0dhpGP60Xine

Problem: (Page No. 317, Ex. 9)

Harpreet tosses two different coins
simultaneously (say, one is of Rs. 1 and other
of Rs. 2) What is the probability that she gets

at least one head?

o Watch Video Solution

64.In a musical chair game, the person playing
the music has been advised to stop playing
the music at any time within 2 minutes after

she starts playing . What is the probability


https://dl.doubtnut.com/l/_0dhpGP60Xine
https://dl.doubtnut.com/l/_P6iI691mo91p

that the music will stop within the first half-

minute starting?

° Watch Video Solution

65. A missing helicopter is reported to have
crashed somewhere in the rectangular region
as shown in the figure. What is the probability
that it crashed inside the lake shown in the
figure?

Lo

o Watch Video Solution



https://dl.doubtnut.com/l/_P6iI691mo91p
https://dl.doubtnut.com/l/_q6moylaklkDn

66. A cartoon consists of 100 shirts of which 88
are good, 8 have minor defects and 4 have
major defects. Jhony, a trader, will only accept
the shirts which are good, but Sujatha,
another trader, will only reject the shirts will
have major defects. One shirt is selected at
random from the carton. What is the

probability that it is acceptable to Jhony?

o Watch Video Solution



https://dl.doubtnut.com/l/_q6moylaklkDn
https://dl.doubtnut.com/l/_LyDaT1YiPjcn

67. A cartoon consists of 100 shirts of which 88
are good, 8 have minor defects and 4 have
major defects. Jhony, a trader, will only accept
the shirts which are good, but Sujatha,
another trader, will only reject the shirts will
have major defects. One shirt is selected at
random from the carton. What is the

probability that it is acceptable to Jhony?

o Watch Video Solution



https://dl.doubtnut.com/l/_VYRmMjs5t6Yl

68. Two dice, one red and one white , are
thrown at the same time. Write down all the
possible outcomes. What is the probability
that the sum of the two numbers appearing

on the top of the dice is 8?

o Watch Video Solution

69. Two dice, one red and one white , are
thrown at the same time. Write down all the

possible outcomes. What is the probability


https://dl.doubtnut.com/l/_rsYlbiyX1KEr
https://dl.doubtnut.com/l/_aI0MIqkIp3Ay

that the sum of the two numbers appearing

on the top of the dice is 13?7

° Watch Video Solution

70. Two dice, one red and one white , are
thrown at the same time. Write down all the
possible outcomes. What is the probability
that the sum of the two numbers appearing

on the top of the dice is 8?7

° Watch Video Solution



https://dl.doubtnut.com/l/_aI0MIqkIp3Ay
https://dl.doubtnut.com/l/_Prmqx1fv6ksT
https://dl.doubtnut.com/l/_d4CzGUmIVqyU

71. A bag contains 3 red balls and 5 black balls.
A ball is drawn at random from the bag. What

is the probability that the ball drawn is red?

° Watch Video Solution

72. A bag contains 3 red balls and 5 black balls.
A ball is drawn at random from the bag. What

is the probability that the ball drawn is red?

° Watch Video Solution



https://dl.doubtnut.com/l/_d4CzGUmIVqyU
https://dl.doubtnut.com/l/_UUyiBUmuMdBy
https://dl.doubtnut.com/l/_dVCnw1hhO20w

73. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is
taken out of the box at random. What is the
probability that the marble taken out will be

red?

o Watch Video Solution

74. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is

taken out of the box at random. What is the


https://dl.doubtnut.com/l/_dVCnw1hhO20w
https://dl.doubtnut.com/l/_VNZMpKlzhOQ9

probability that the marble taken out will be

white?

° Watch Video Solution

75. A box contains 5 red marbles, 8 white
marbles and 4 green marbles. One marble is
taken out of the box at random. What is the
probability that the marble taken out will be

not green?

° Watch Video Solution



https://dl.doubtnut.com/l/_VNZMpKlzhOQ9
https://dl.doubtnut.com/l/_2CyYZ5U6CmMd
https://dl.doubtnut.com/l/_0yPAV0lUsjWE

76. A kiddy bank contains hundred 50p coins,
fifity Rs1 coins, twenty Rs2 coins and ten Rs5
coins. IF it is equally likely that one of the
coins will fall out when the bank is turned
upside down, what is the probability that the

coin will not be a 50 p coin?

o Watch Video Solution

77. A kiddy bank contains hundred 50p coins,
fifity Rs1 coins, twenty Rs2 coins and ten Rs5

coins. IF it is equally likely that one of the


https://dl.doubtnut.com/l/_0yPAV0lUsjWE
https://dl.doubtnut.com/l/_WywVpknCyOgA

coins will fall out when the bank is turned
upside down, what is the probability that the

coin will not be a 50 p coin?

o Watch Video Solution

78. Gopal buys a fish from a shop for his
aquarium. The shopkeeper takes out one fish
at random from a tank containing 5 male fish
and 8 female fish (See figure). What is the

probability that the fish taken out is a male


https://dl.doubtnut.com/l/_WywVpknCyOgA
https://dl.doubtnut.com/l/_stNdGte2wuZp

fish?

&2

° Watch Video Solution

79. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the numbers 1,2,3,4,56,78 (See figure) and
these are equally likely outcomes. What is the

probability that it will point at 8 ?

&2

o Watch Video Solution



https://dl.doubtnut.com/l/_stNdGte2wuZp
https://dl.doubtnut.com/l/_CfRXpb6mqGE8

80. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the numbers 1,2,3,4,56,78 (See figure) and
these are equally likely outcomes. What is the
probability that it will point at an odd number

L

an odd number ?

o Watch Video Solution



https://dl.doubtnut.com/l/_CfRXpb6mqGE8
https://dl.doubtnut.com/l/_Prd5hFBs04Uj

81. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the numbers 1,2,;3,4,56,78 (See figure) and
these are equally likely outcomes. What is the
probability that it will point at a number
greater than 2 ?

L

L

o Watch Video Solution



https://dl.doubtnut.com/l/_D1z5OzIXncQm

82. A game of chance consists of spinning an
arrow which comes to rest pointing at one of
the numbers 1,2,;3,4,56,78 (See figure) and
these are equally likely outcomes. What is the
probability that it will point at a number less
than 97

L

a number less than 9 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_qtfYGOYXcGB8

83. One card is drawn from a well-shuffled dock
of 52 cards. Find the probability of getting a

king of red colour?

o Watch Video Solution

84. One card is selected from a well shuffled
deck of 52 cards. Find the probability of

getting a red card with prime number.

o Watch Video Solution



https://dl.doubtnut.com/l/_2lnYMK9Yohm2
https://dl.doubtnut.com/l/_oiT7FByCJjY4
https://dl.doubtnut.com/l/_oNf6OKXEfosw

85. One card is drawn from a well-shuffled dock
of 52 cards. Find the probability of getting a

red face card?

o Watch Video Solution

86. One card is drawn from a well-shuffled dock
of 52 cards. Find the probability of getting the

jack of hearts?

o Watch Video Solution



https://dl.doubtnut.com/l/_oNf6OKXEfosw
https://dl.doubtnut.com/l/_HVIvR12bNCi2
https://dl.doubtnut.com/l/_JXiKuFdq5kKC

87. One card is selected from a well shuffled
deck of 52 cards. Find the probability of

getting a red card with prime number.

o Watch Video Solution

88. One card is drawn from a well-shuffled dock
of 52 cards. Find the probability of getting the

queen of diamonds?

o Watch Video Solution



https://dl.doubtnut.com/l/_JXiKuFdq5kKC
https://dl.doubtnut.com/l/_aUjXcqTaH7iM

89. Five cards -the ten , jack queen, king and
ace of diamond, are well shuffled with their
face downwards. One card is then picked up at
random.

What is the probability that the card is the

queen?

o Watch Video Solution

90. Five cards -the ten , jack queen, king and

ace of diamond, are well shuffled with their


https://dl.doubtnut.com/l/_Vc4fBF85NUWy
https://dl.doubtnut.com/l/_5ySv81rTuk9w

face downwards. One card is then picked up at
random.

IF the queen is drawn and put aside, what is
the probability that the second card picked is

(a) a ace? (b) a queen?

o Watch Video Solution

91. Five cards -the ten , jack queen, king and
ace of diamond, are well shuffled with their
face downwards. One card is then picked up at

random.


https://dl.doubtnut.com/l/_5ySv81rTuk9w
https://dl.doubtnut.com/l/_9zc3QvDtRw2r

IF the queen is drawn and put aside, what is
the probability that the second card picked is

(a) a ace? (b) a queen?

o Watch Video Solution

92. 12 defective pens are accidentally mixed
with 132 good ones. IT is not possible to just
look at a pen and tell whether or not it is
defective. One pen is taken out at random
from this lot. Determine the probability that

the pen taken out is a good one.

| e |


https://dl.doubtnut.com/l/_9zc3QvDtRw2r
https://dl.doubtnut.com/l/_bDZddoPZdLpK

& Watch Video Solution I

93. A lot of 20 bulbs contain 4 defective ones.
One bulb is drawn at random from the lot.
What is the probability that this bulb is
defective? Suppose the bulb is drawn is
previous case is not defective and is not
replaced. Now one bulb is drawn at random
from the rest. What is the probability that this

bulb is not defective?

° Watch Video Solution



https://dl.doubtnut.com/l/_bDZddoPZdLpK
https://dl.doubtnut.com/l/_6NmWLp90ZcLk
https://dl.doubtnut.com/l/_lMRFPjIpBMJj

94. A box contains 90 discs which are
numbered from 1 to 90. IF one disc is drawn at
random from the box, find the probability that

it bears a two digit number?

° Watch Video Solution

95. A box contains 90 discs which are
numbered from 1to 90. IF one disc is drawn at
random from the box, find the probability that

it bears a perfect square number.

| €8


https://dl.doubtnut.com/l/_lMRFPjIpBMJj
https://dl.doubtnut.com/l/_9jkoi4c7ld8q

| ¥ Watch Video Solution J

96. A box contains 90 discs which are
numbered from 1 to 90. IF one disc is drawn at
random from the box, find the probability that

it bears a number divisible by 5.

° Watch Video Solution

97. Suppose you drop a die at random on the
rectangular region shown in figure. What is

the probability that it will land inside the circle


https://dl.doubtnut.com/l/_9jkoi4c7ld8q
https://dl.doubtnut.com/l/_oAtsPsgtdbin
https://dl.doubtnut.com/l/_b8dIaaE4uA7O

with diameter 1m?

&2

° Watch Video Solution

98. A lot consists of 144 ball pens of which 20
are defective and the others are good. The
shopkeeper drawn one pen at random and
gives it to Sudha. What is the probability that

She will buy it?

° Watch Video Solution



https://dl.doubtnut.com/l/_b8dIaaE4uA7O
https://dl.doubtnut.com/l/_7xwefADs6AS7
https://dl.doubtnut.com/l/_Gvh2KzVmI3z2

99. A lot consists of 144 ball pens of which 20
are defective and the others are good. The
shopkeeper drawn one pen at random and
gives it to Sudha. What is the probability that

She will not buy it?

o Watch Video Solution

100. Two dice are rolled simultaneously and
counts are added
A student argues that there are 11 possible

outcomes 2,3,4,5,6,7,3,9,10,11 and 12. Therefore,


https://dl.doubtnut.com/l/_Gvh2KzVmI3z2
https://dl.doubtnut.com/l/_D5VHlr6MdvPg

1
each of them has a probabilty BT Do you

agree with this argument? Justify your answer.

° Watch Video Solution

101. A game consists of tossing a one rupee
coin 3 times and noting its outcome each
time. Hanif wins if all the tosses give the same
result i.e, three heads or three tails, and loses
other-wise. Calculate the probability that Hanif

will lose the game.

° Watch Video Solution



https://dl.doubtnut.com/l/_D5VHlr6MdvPg
https://dl.doubtnut.com/l/_S6rZn1ARWAyf

102. A dice is thrown twice. What is the
probability that (i) 5 will not come up either
time? (ii) 5 will come up atleast once? [Hint:
Throwing a dice twice and throwing two dice
simultaneously are treated as the same

experiment].

o Watch Video Solution

103. A dice is thrown twice. What is the

probability that (i) 5 will not come up either


https://dl.doubtnut.com/l/_S6rZn1ARWAyf
https://dl.doubtnut.com/l/_9W1jkeqoYN2S
https://dl.doubtnut.com/l/_oWQYIkdmPrz2

time? (ii) 5 will come up atleast once? [Hint:
Throwing a dice twice and throwing two dice
simultaneously are treated as the same

experiment].

° Watch Video Solution

104. Two customers Shyam and Ekta are
visiting a particular shop in the same week
(Tuesday to Saturday). Each is equally likely to

visit the shop on the same day?

° Watch Video Solution



https://dl.doubtnut.com/l/_oWQYIkdmPrz2
https://dl.doubtnut.com/l/_6T9Yz7uOGjdR

105. Two customers Shyam and Ekta are
visiting a particular shop in the same week
(Tuesday to Saturday). Each is equally likely to

visit the shop on the same day?

o Watch Video Solution

106. Two customers Shyam and Ekta are
visiting a particular shop in the same week
(Tuesday to Saturday). Each is equally likely to

visit the shop on the same day?


https://dl.doubtnut.com/l/_6T9Yz7uOGjdR
https://dl.doubtnut.com/l/_LmHDw8EZRqOZ
https://dl.doubtnut.com/l/_5TMGyHxyQtUV

° Watch Video Solution

107. A bag contains 5 red balls and some blue
balls, If the probability of drawing a blue ball is
double that of a red ball, Find the number of

blue balls in the bag.

o Watch Video Solution

108. A box contains 12 balls out of which x are

black, IF one ball is drawn at random from the


https://dl.doubtnut.com/l/_5TMGyHxyQtUV
https://dl.doubtnut.com/l/_ojC1O4imgUgv
https://dl.doubtnut.com/l/_Bs7bGgG9gMeB

box, what is the probability that it will be a
black ball? If 6 more black balls are put in the
box, the probability of drawing a black ball is

now double of what it was before Find x.

° Watch Video Solution

109. A jar contains 24 marbles, some are green
and others are blue. IF a marble is drawn at
random from the jar, the probability that it is
green is 2 /3. Find the number of blue marbles

in the jar.

| e |


https://dl.doubtnut.com/l/_Bs7bGgG9gMeB
https://dl.doubtnut.com/l/_oqk4vOQ9I083

& watch Video Solution I

110. Kishore buys a fruit from a shop. The
shopkeeper have one box. The box contain 18
mangoes, 32 apples so shopkeeper takes out
one fruit at random what is the probability

that the mango taken out from box.

° Watch Video Solution

111. A room contains 30 green chairs and some

white chairs if the probability of drawing a


https://dl.doubtnut.com/l/_oqk4vOQ9I083
https://dl.doubtnut.com/l/_n62I7gX6XBgE
https://dl.doubtnut.com/l/_gS9XDux95IYG

white chair is triple that of green chair
determine the number of white chairs in the

room.

° Watch Video Solution

112. There are 25 cards of same size in a bag on
which number 1 to 25 are written one card is
taken out of the bag at random. Find the
probability that the number on the selected

card is not divisible by 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_gS9XDux95IYG
https://dl.doubtnut.com/l/_LC8JimRJULMZ

113. A jar contains 18 marbls, some are red and
other whtie if a marble is drawn at random
from the jar the probability that it is white 5/6.

Find the number of white marbles.

o Watch Video Solution

114. A game consists of tossing a one rupee
coin 2 times and noting its out come each
time. Ravi wins if all the wins give the same

result i.e., two heads or two tails and loses


https://dl.doubtnut.com/l/_LC8JimRJULMZ
https://dl.doubtnut.com/l/_gPSOoT2uNN8g
https://dl.doubtnut.com/l/_k3sPPc5zwZzV

otherwise. Calculate the probability that he

will lose the game.

° Watch Video Solution

115. A lot consists of 200 ball pens of which 50
are defective and others are good. The shop
keeper draws one pen at random any gives to
sindhu. What is the probability that

She will buy it ?

° Watch Video Solution



https://dl.doubtnut.com/l/_k3sPPc5zwZzV
https://dl.doubtnut.com/l/_ExsjadpzZ64E
https://dl.doubtnut.com/l/_6C9A12Pve9Fy

116. A lot consists of 200 ball pens of which 50
are defective and others are good. The shop
keeper draws one pen at random any gives to
sindhu. What is the probability that

She will not buy it ?

o Watch Video Solution

117. A bag contains 5 red and 8 white balls . If a
ball is drawn a random from the bag. What is
the probability that it will be

(i) white ball (ii) not to be white ball.


https://dl.doubtnut.com/l/_6C9A12Pve9Fy
https://dl.doubtnut.com/l/_sagJM52KcbE9

° Watch Video Solution

118. A bag contains 5 red and 8 white balls . If a
ball is drawn a random from the bag. What is
the probability that it will be

(i) white ball (ii) not to be white ball.

o Watch Video Solution

119. When die is rolled once unbiased what is

the probability of getting a multiple of 3 out


https://dl.doubtnut.com/l/_sagJM52KcbE9
https://dl.doubtnut.com/l/_0dAZrx0mi6Yi
https://dl.doubtnut.com/l/_Iwq7jtqOSmOs

of possible outcomes?

o Watch Video Solution

120. There are 12red, 18 blue and 6 white balls
in a box, when balls is drawn at random from

the box, what is the probability of not getting

a red ball?

° Watch Video Solution



https://dl.doubtnut.com/l/_Iwq7jtqOSmOs
https://dl.doubtnut.com/l/_MyK0b2hQgCuu

121. There are 100 flash cards labelled from 1 to
100 in a bag. When a card is drawn from the

bag at random, what is the probability of

a card with prime number from possible

outcomes?

o Watch Video Solution

122. There are 100 flash cards labelled from 1

to 100 in a bag. When a card is drawn from the


https://dl.doubtnut.com/l/_nU2a3Ma7t6b3
https://dl.doubtnut.com/l/_YO94fzg8mHLV

bag at random, what is the probability of

a card without prime number from possible

outcomes?

° Watch Video Solution

123. Find the probability of getting

sum 7 when two dice are rolled

o Watch Video Solution



https://dl.doubtnut.com/l/_YO94fzg8mHLV
https://dl.doubtnut.com/l/_6LfzxQaVZV94

124. A bag contains 5 red balls and some blue
balls, If the probability of drawing a blue ball is
double that of a red ball, Find the number of

blue balls in the bag.

° Watch Video Solution

125. If P(E) = 0.35, what is the probability of

"not E"?

o Watch Video Solution



https://dl.doubtnut.com/l/_6GMyGgNbcDba
https://dl.doubtnut.com/l/_xOD7UP4xMFMO
https://dl.doubtnut.com/l/_63bjG8wvSsRI

126. A bag contains 5 red balls and 7 black
balls a ball drawn at random from the bag.
What is the probability that the ball selected

red .

o Watch Video Solution

127. A bag contains 5 red balls and 7 black balls
a ball drawn at random from the bag. What is
the probability that the ball selected

not red.

o Watch Video Solution



https://dl.doubtnut.com/l/_63bjG8wvSsRI
https://dl.doubtnut.com/l/_j48cbVC7bnpc

128. Suppose you drop a die at random on the
rectangular region shown in figure. What is
the probability that it will land inside the circle
with diameter 1m?

L

L

o Watch Video Solution

129. Find the probability of setting a sum of

the number on them is 9, when two dice are


https://dl.doubtnut.com/l/_j48cbVC7bnpc
https://dl.doubtnut.com/l/_aUchfaR9AsXM
https://dl.doubtnut.com/l/_1LQhGGi1bYVJ

rolled at a time.

o Watch Video Solution

130. The probability of drawing a black card

from the black cards is............

° Watch Video Solution

131.IF P (E) =0.05, then P (E)=....

° Watch Video Solution



https://dl.doubtnut.com/l/_1LQhGGi1bYVJ
https://dl.doubtnut.com/l/_ZJuVb4jIVw7k
https://dl.doubtnut.com/l/_yKOEb3LByjqt

132.If P(G) = 4/17 then find P(G).

o Watch Video Solution

133. The probability that a leap year has 53

sundays is.......

o Watch Video Solution

134. The probability of getting a number less

than 5 when a die is rolled is



https://dl.doubtnut.com/l/_xgddnfou6txb
https://dl.doubtnut.com/l/_2OdOHNSLkLP6
https://dl.doubtnut.com/l/_UNouTcjLtOMt

o Watch Video Solution

135. In a box, there are 28 marbles of which x

are green and the rest are white. If the

2

probability of getting a green marble is &

Then number of green marbles=......

° Watch Video Solution

2
136. IF E is an event whose probability is 5

then the probability of not E is..........

| & I


https://dl.doubtnut.com/l/_UNouTcjLtOMt
https://dl.doubtnut.com/l/_ixVToT7OYams
https://dl.doubtnut.com/l/_Orenrm2jBkoU

| ¥ Watch Video Solution |

137. From a well shuffled pack of cards, a card
is drawn at random, then the probability of

getting a red jack is..........

o Watch Video Solution

138. IF an unbiased coin is tossed the

probability of getting a tail is ...

o Watch Video Solution



https://dl.doubtnut.com/l/_Orenrm2jBkoU
https://dl.doubtnut.com/l/_dVa3GNSToEf7
https://dl.doubtnut.com/l/_e8m8cURhvXWR

139. The probability of a face card from red

cards is..........

° Watch Video Solution

1. Cards marked with numbers 13,14,15............ ,60
are placed in a box and mixed throughly. One
card is drawn at random from the box. Find

the probability that number on the card


https://dl.doubtnut.com/l/_NUT7bSyytyzt
https://dl.doubtnut.com/l/_FItlgPYmCXml

drawn is

divisible by 5.

° Watch Video Solution

2. Cards marked with numbers 13,14,15............ ,60
are placed in a box and mixed throughly. One
card is drawn at random from the box. Find
the probability that number on the card
drawn is

a perfect square.

o Watch Video Solution



https://dl.doubtnut.com/l/_FItlgPYmCXml
https://dl.doubtnut.com/l/_IYYNEH0yD2fU

3. There are 30 cards, of same size, in a bag on
which numbers 1 to 30 are written. One card is
taken out of the bag at random. Find the
probability that the number on the selected

card is not divisible by 3.

o Watch Video Solution

4. A bag contains 5 red, 8 white and 7 black

balls. A ball is drawn at random from the bag.


https://dl.doubtnut.com/l/_IYYNEH0yD2fU
https://dl.doubtnut.com/l/_AumRg1vJYu5G
https://dl.doubtnut.com/l/_4zdX91l1xJcW

Find the probability that the drawn ball is

red or white.

° Watch Video Solution

5. A bag contains 5 red, 8 white and 7 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is

not black

o Watch Video Solution



https://dl.doubtnut.com/l/_4zdX91l1xJcW
https://dl.doubtnut.com/l/_CFLS7PU3x844

6. A bag contains 5 red, 8 white and 7 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is

neither white nor black.

o Watch Video Solution

7. Find the probability that a number selected
from the numbers 1 to 25 is not a prime
number when each of the given numbers is

equally likely to be selected.

| & I


https://dl.doubtnut.com/l/_XmKViBhunB4K
https://dl.doubtnut.com/l/_RXKEOAyTe2Rv

| ¥ Watch Video Solution |

8. A bag contains 8 red, 6 white and 4 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is

red or white.

o Watch Video Solution

9. A bag contains 8 red, 6 white and 4 black

balls. A ball is drawn at random from the bag.


https://dl.doubtnut.com/l/_RXKEOAyTe2Rv
https://dl.doubtnut.com/l/_H8Z7A5YMusfp
https://dl.doubtnut.com/l/_bDZmWimPkk0m

Find the probability that the drawn ball is

not black.

° Watch Video Solution

10. A bag contains 8 red, 6 white and 4 black
balls. A ball is drawn at random from the bag.
Find the probability that the drawn ball is

neither white nor black.

o Watch Video Solution



https://dl.doubtnut.com/l/_bDZmWimPkk0m
https://dl.doubtnut.com/l/_pRI5cXlio6VN

11. Find the probability that a number selected

at random from the numbers 1,23,.............. 35 is

prime number.

o Watch Video Solution

12. Find the probability that a number selected

at randomo from the numbers 1,23,.............. 35 is

multiple of 7.

| & I


https://dl.doubtnut.com/l/_e186Jw3V6ikv
https://dl.doubtnut.com/l/_NYJ2m51T5ojf

| ¥ Watch Video Solution |

13. Find the probability that a number selected

at random from the numbers 1,23,.............. 35 is

multiple of 3 or 5.

° Watch Video Solution

14. 1t is given that in a group of 3 students, the

probability of 2 students not having the same


https://dl.doubtnut.com/l/_NYJ2m51T5ojf
https://dl.doubtnut.com/l/_fXlC5Bj6NPOM
https://dl.doubtnut.com/l/_TOhcdxIJhOSn

birthday is 0.992.What is the probability that

the 2 students have the same birthday?

° Watch Video Solution

15. A bag contains cards which are numbered
from 2 to 90. A card is drawn at random from
the bag. Find the probability that it bears

a two digit number.

o Watch Video Solution



https://dl.doubtnut.com/l/_TOhcdxIJhOSn
https://dl.doubtnut.com/l/_CBukrlAS6eA2

16. A bag contains cards which are numbered
from 2 to 90. A card is drawn at random from
the bag. Find the probability that it bears

a number which is a perfect square.

o Watch Video Solution

17. A bag contains 4 white balls, 6 red balls, 7
black balls and 3 blue balls. One ball is drawn

at random from the bag. Find the probability


https://dl.doubtnut.com/l/_Dhez4DVmELZD
https://dl.doubtnut.com/l/_pvcI17pSiBTy

that the ball drawn is

white

° Watch Video Solution

18. A bag contains 4 white balls, 6 red balls, 7
black balls and 3 blue balls. One ball is drawn
at random from the bag. Find the probability
that the ball drawn is

not black.

° Watch Video Solution



https://dl.doubtnut.com/l/_pvcI17pSiBTy
https://dl.doubtnut.com/l/_1dva0zyJyni7
https://dl.doubtnut.com/l/_23YOxodkFFpw

19. A bag contains 4 white balls, 6 red balls, 7
black balls and 3 blue balls. One ball is drawn
at random from the bag. Find the probability
that the ball drawn is

neither white or black.

° Watch Video Solution

20. A bag contains 4 white balls, 6 red balls, 7
black balls and 3 blue balls. One ball is drawn

at random from the bag. Find the probability


https://dl.doubtnut.com/l/_23YOxodkFFpw
https://dl.doubtnut.com/l/_mjKNTyrBG68o

that the ball drawn is

red or white.

° Watch Video Solution

21. A card is drawn at random from a well
shuffled pack of 52 cards. Find the probability

that the card drawn a red card not a queen.

° Watch Video Solution



https://dl.doubtnut.com/l/_mjKNTyrBG68o
https://dl.doubtnut.com/l/_LKbazPaBhaqi

22.If P(E) = 0.43, what is the probability of "not

E"?

° Watch Video Solution

23. A box contains 10 Telgu books and 15
English books. A book drawn at random from
the box. What is the probability that the book
selected

Telugu

° Watch Video Solution



https://dl.doubtnut.com/l/_KqcprTpa4Ejv
https://dl.doubtnut.com/l/_Y3vvAAnIpiYv

24. A box contains 10 Telgu books and 15
English books. A book drawn at random from
the box. What is the probability that the book
selected

not Telugu.

o Watch Video Solution

25. Suppose you drop a die at random on the
rectangular region shown in figure. What is

the probability that it will land inside the circle


https://dl.doubtnut.com/l/_Y3vvAAnIpiYv
https://dl.doubtnut.com/l/_fp8bCZEqXwCl
https://dl.doubtnut.com/l/_nx4d9hAcQ69y

with diameter 1m?

&2

° Watch Video Solution

26. Find the probability of getting a sum of the
number on them is 8, when 3 dice are rolled at

a time.

° Watch Video Solution



https://dl.doubtnut.com/l/_nx4d9hAcQ69y
https://dl.doubtnut.com/l/_4FtKBgcIwOMf

27. A sample space consists of 8 elementary
events that are equally likely. Probability of

each of them is........

Al

| =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hz1RXJmIDyAJ

28. If | calculate the probability of an events as

-0.5, then

A. The probability of not happening is 0.5

B. The probability of happening is 0.5

C. The event is not going to happen

D. | made a mistake

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_357tqL7857Fe
https://dl.doubtnut.com/l/_mcUzArbOerij

29. On a multiple choice test, each question
has 4 possible choices. If you make a random

guess, probability that you are correct is..........

Al
4
B.1

C.0

D.4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mcUzArbOerij
https://dl.doubtnut.com/l/_FWJ2F9rJAncF

30. A bag contains 6 red marbles, 3 blue
marbles and 7 green marbles. If a marble is
randomly selected from the bag, probability

that it is blue...............

1
A.E
1
B°§
c 3
16

5 13
" 16

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FWJ2F9rJAncF

31. if an individual is selected at random,
probability that he has a birthday in july in

20127

A 30
" 365

31

' 365
30

366

31

D.%

Answer:

I o Watch Video Solution


https://dl.doubtnut.com/l/_FWJ2F9rJAncF
https://dl.doubtnut.com/l/_91BEuSBKQeVI

32. When a card is picked up from a deck of

cards, it should be either a red or a black card

because these events are:

A. Mutually exclusive

B. Equality likely

C. Complementary

D. All of these

Answer:



https://dl.doubtnut.com/l/_91BEuSBKQeVI
https://dl.doubtnut.com/l/_5aMVH0SZxEBb

| & Watch Video Solution

33. Probability of getting an even or odd

number in throwing a dice is........

Al
"2

B.1

NG

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5aMVH0SZxEBb
https://dl.doubtnut.com/l/_iDD46uOQJGBj

34. Probability of getting 7 on a 6 faced die

when it is thrown is...........

Al

N

o
N~ o -

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_iDD46uOQJGBj
https://dl.doubtnut.com/l/_UV87AYJoW3mK

35. Among the following probability of an

event E, P(E)=...........

A.05

B.3

C.0.2

D.5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_rD70oMHD6Xgx
https://dl.doubtnut.com/l/_PqNKfphSAjd2

36. Two unbiased coins are tossed
simultaneously. Probability of getting atmost

two heads...........

N = =

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PqNKfphSAjd2
https://dl.doubtnut.com/l/_RWaujD7qui8r

37. A card is pulled from a deck of 52 cards, The

probability of obtaining a club is

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_RWaujD7qui8r

38. When a coin is tossed, the probability of

getting a head is..........

>

S| W= Rk N

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GieO2ZumUvyQ
https://dl.doubtnut.com/l/_ijjKdlPJFRkc

39. IF a die is rolled, then the probability of

getting an even number is...........

>

g N~ WwRkr o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ijjKdlPJFRkc

40. If two dice are thrown simultaneously, the
probability of showing the same numbers on

their faces

o >
w| S|’_‘ = o =

N

o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DfcV9XqLt4Am

41. A card is pulled from a deck of 52 cards, The

probability of obtaining a club is

>

DO = | = Ot
2l 2 sl gl

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_EwLPQKrlkzlz
https://dl.doubtnut.com/l/_DXcDfKCH94Bu

42. A box contains pencils and pens. The

probability of picking out a pen at random of

0.65. Then the probability of not picking a pen

IS

A.045

B.0.55

C. 0.65

D. 0.35

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DXcDfKCH94Bu

43. In a simultaneous toss of two coins,

probability of no tails is

>

Bl w B = Wk N

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_DXcDfKCH94Bu
https://dl.doubtnut.com/l/_BeC6WEvdl0Cd

44. In a simultaneous toss of two coins, the

probability of atleast one head is

>

N N U N B I

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nWoZ7VOLXhkx
https://dl.doubtnut.com/l/_zTHD3unyQEUF

45. In a single thrown of two dice, the

probability of getting a total of 12 is

Al
18

1
B.%
1
9
1
D. —

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zTHD3unyQEUF

46. In a single throw of two dice, the

probability of getting a total of 11is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WgGskd9gqZq5
https://dl.doubtnut.com/l/_TzqCKgTyP7j5

47. In a single throw of two dice, the

probability getting a doublet is

N @

o
| = = — S| ot
| L\:)|C’1 |—n|°° |

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_TzqCKgTyP7j5

48. In a single throw of two dice, the

probability of getting distinct numbers is

A —

6
B. —
1

C.

(@)

5
5}
2

s}

3

D. 1
36

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_36fkcpTdGs2K
https://dl.doubtnut.com/l/_mjKqf1gq2lip

49. In a single throw of two dice, the

probability of getting even doublet is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_mjKqf1gq2lip

50. When two dice are rolled, probability of

getting odd doublet is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_kdvFMWZ22gjU
https://dl.doubtnut.com/l/_aUHi1GthPyeP

51. Two dice are rolled, the probability of

getting 6 as the product is

1
A.l—8
1
B.E

C

1
9
1
D.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_aUHi1GthPyeP

52. A page is opened at random from a book
containing 90 pages. Then the probability of a

page number is a perfect square is........

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Jm629BoWpY5T

53. The probability of picking a king card from

a well shuffled deck of playing cards is.....cu.....

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Ttq2JZ8KwDCw
https://dl.doubtnut.com/l/_oVZZV8hSLSdO

54. Getting a prime or composite number is a

A. Mutually exclusive

B. Equality likely

C.0

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_oVZZV8hSLSdO

55.P ( E)=0.65 then P (E)=..

A.0.25
B. 1
C.0.35

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gU6n9hJdZYHK

56. IF P ( E )=0.82 then P (E)=......

A.0.18

B. 0.28

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MAKzcg7YNhxO

57. Two fair dice are rolled and the face values
are added. The probability of getting an odd

number greater than 8 is ..............

O~ |~ o=k ol

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_pIITrn8Yqk1q

58. A jar contains 3 mangoes and x guavas.
Two fruits are pulled from the jar without
replacement. An expression that represents
the probability one fruit is mango and the

next fruit is guava is.........

A(a:iB)(z—_k;)
> (553) (52
«(+3) (=)
3 X 2
(z + 3)(z + 2)

Answer:


https://dl.doubtnut.com/l/_auFRfTlEz3CP

o Watch Video Solution

59. Three different greetings cards and their
corresponding covers are randomly strewn
about on a table. IF Sita puts the greetings
cards into the covers at random, the
probability of correctly matching of all the

greeting cards and covers is ...

>

N w
S|~ Wl o o


https://dl.doubtnut.com/l/_auFRfTlEz3CP
https://dl.doubtnut.com/l/_ceFRJCssE2oF

©| =

Answer:

o Watch Video Solution

60. IF two dice ar rolled at a time then the
probability that the two faces show different

numbers is


https://dl.doubtnut.com/l/_ceFRJCssE2oF
https://dl.doubtnut.com/l/_p3LJqaT5i0c7

c2

6
1
D.%

Answer:

° Watch Video Solution

61. The probability of getting a number less

than 5 when a die is rolled is

Wl o


https://dl.doubtnut.com/l/_p3LJqaT5i0c7
https://dl.doubtnut.com/l/_AMMBXFmp8mbN

N
o= o] w

o

Answer:

o Watch Video Solution

62. IF a ball is drawn at random from a box
containing 11 red balls,6 white balls and 9
green balls then, the probability that the ball

is not green is


https://dl.doubtnut.com/l/_AMMBXFmp8mbN
https://dl.doubtnut.com/l/_mtDCPftnH8D5

Answer:

o Watch Video Solution

63. Which of the following are equally likely

events?


https://dl.doubtnut.com/l/_mtDCPftnH8D5
https://dl.doubtnut.com/l/_5jP8JzEIdSAZ

A. Getting a Head or Tail in tossing a coin.

B.In a throw of a die, getting prime or

composite number.

C.Drawing a number card from 1 - 50 a

number divisible by 6 or 8

D. Picking a heart or black card from a deck

of playing cards.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_5jP8JzEIdSAZ
https://dl.doubtnut.com/l/_iZoeAfjd7bUk

64. In a single throw of two dice, the

probability of getting a total of 11is

® >
S| ot O+ g|,_\ 5|,_l

N

o

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_iZoeAfjd7bUk
https://dl.doubtnut.com/l/_z7HEtPJucsXu

65. Two dice are rolled, the probability of

getting 6 as the product is

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_z7HEtPJucsXu

66. The “event” of getting a number less than

or equal to 6 when a dice is thrown ...

A. base event

B. possible event

C. element

D. sure event

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dXrO90cvnvV1
https://dl.doubtnut.com/l/_7SJLFIeC0S9d

67. When a coin is tossed, the probability of

getting a head is.........

Al
"2

B.2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7SJLFIeC0S9d

68. From a deck of cards, a card is drawn at
random, then the probability of getting a

black a face card is...........

A
2
B,
4
c.2
2
p. >
26
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_a5LVc1SSS3Zk

69. From a bag containing 6 red balls, 5 green
balls and 3 blue balls, the probability of

getting a green ball at random.........

5!

A.
14

B

4
5
5
C.o

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_yY2Lt0rtrxSU

70. There are 50 cards numbered from 1 to 50.
A card is drawn at random, then the
probability that the number on the card is

divisible by 8 is............

Answer:

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_otld41KJhFCi

71. The probability of a certain event is ...

A9

B.7

C.0O

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_otld41KJhFCi
https://dl.doubtnut.com/l/_EFUUmCxKXpWV
https://dl.doubtnut.com/l/_w1ipnxJ9tNaT

72. Probability of an event lies between

B.2,3

C. 7,

D. 4,9

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_w1ipnxJ9tNaT

73.P(E) +P ( E )=......

A.O

B.2

C.1

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_yQnYu7Wq0vRq

74. In a box, there are 28 marbles of which x

are green and the rest are white. If the

2

probability of getting a green marble is &

Then number of green marbles-=.....

A.8
B.9
C.10

D.13

Answer:

‘ o Wiak~lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_jozwKRnkMWcd

VVCILLIL VI IAGINIE L J)

75. IF E is an event whose probability is 5

then the probability of not E is..........

>

Wl ow w|lot |

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jozwKRnkMWcd
https://dl.doubtnut.com/l/_wwDThD2IVBqD

76. IF two dice are rolled simultaneously then

the 'sum' with greatest possibility to happen

B.7

C.3

D. none

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wwDThD2IVBqD
https://dl.doubtnut.com/l/_0EP6W9VEJzc3

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0EP6W9VEJzc3
https://dl.doubtnut.com/l/_f3VnVP4XSw1p
https://dl.doubtnut.com/l/_Hzsq9tFfMspl

78. IF one side is chosen at random from the
sides of a right triangle, then the probability

that it is hypotenuse is ...

A2

wW| =

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Hzsq9tFfMspl
https://dl.doubtnut.com/l/_Oji2XwN8OfF6

79. When a dice is thrown, the probability of
getting neither a prime nor composite

number is..............

w0
D= N~ W

D. none

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Oji2XwN8OfF6

80. Getting a tail or head............

A. equally likely

B. unlikely

C. exclusive

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_OFyqv0y5ErEJ

81. Getting a prime or composite number is a

A. Mutually exclusive

B. likely

C.0

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_s7vhDlufGxFZ
https://dl.doubtnut.com/l/_j0OlINS8xOvS

82. Getting a red card (or) black card is........

A. Mutually exclusive

B. more likely

C. less likely

D. none

Answer:

° Watch Video Solution

83. P (sure events)=..............


https://dl.doubtnut.com/l/_j0OlINS8xOvS
https://dl.doubtnut.com/l/_Fgli2GwKytSE

Al

B.O

D.2

Answer:

° Watch Video Solution

84.P ( Impossible events)=...........

A4


https://dl.doubtnut.com/l/_Fgli2GwKytSE
https://dl.doubtnut.com/l/_9amwXdHLevBD

B.3

D.O

Answer:

o Watch Video Solution

85. The probability of a face card from red

cards is..........



https://dl.doubtnut.com/l/_9amwXdHLevBD
https://dl.doubtnut.com/l/_A0ynKSfKsAcj

Answer:

o Watch Video Solution

86. The probability of drawing a black king

from the deck is.............


https://dl.doubtnut.com/l/_A0ynKSfKsAcj
https://dl.doubtnut.com/l/_9Yjll2DvE2sZ

@

N
|~ |

1

D.
26

Answer:

o Watch Video Solution

87. The probability of drawing a black card

from the black cards is............

A3


https://dl.doubtnut.com/l/_9Yjll2DvE2sZ
https://dl.doubtnut.com/l/_uGQsOcQnOpcu

B.2

C.0

D. 1

Answer:

o Watch Video Solution

88. The probability of getting two tails when

two coins are tossed is.............

Al
4


https://dl.doubtnut.com/l/_uGQsOcQnOpcu
https://dl.doubtnut.com/l/_VrGspO3BQdtZ

@

Wl N =

D. none

Answer:

o Watch Video Solution

89. There are.......... Cards in a pack of playing

cards.

A.19


https://dl.doubtnut.com/l/_VrGspO3BQdtZ
https://dl.doubtnut.com/l/_XlqNYEdnCwa7

B.16

C.52

D. 50

Answer:

o Watch Video Solution

90. IF P ( E) =0.05, then P (E)=......

A. 135

B. 0.95


https://dl.doubtnut.com/l/_XlqNYEdnCwa7
https://dl.doubtnut.com/l/_Oy6XRefQa4mk

C.95

D.15

Answer:

° Watch Video Solution

4 —
9P (G)=—P (G)=



https://dl.doubtnut.com/l/_Oy6XRefQa4mk
https://dl.doubtnut.com/l/_7eWB8KAYrnDq

Answer:

o Watch Video Solution

92.P (N) + P (N) =

A.O
B.1
C.3

D.7


https://dl.doubtnut.com/l/_7eWB8KAYrnDq
https://dl.doubtnut.com/l/_HIt1f8ohtkHu

Answer:

o Watch Video Solution

93. A baby is born the probability that it is a

boy(or) girl is.........


https://dl.doubtnut.com/l/_HIt1f8ohtkHu
https://dl.doubtnut.com/l/_RSjyWSVykvEX

Answer:

o Watch Video Solution

94.P(E)+P(E)=...

Al

B.2

C.3

D. none

Answer:


https://dl.doubtnut.com/l/_RSjyWSVykvEX
https://dl.doubtnut.com/l/_IjnQpJiHvD9J

° Watch Video Solution

95. Identify the statement. Which is correct?

A0< P(E) <1
B.O It P(E) It 2
C.P < P(E)

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_IjnQpJiHvD9J
https://dl.doubtnut.com/l/_zgQ1rmTNrfaq

96. There are............... face cards.

AT

B.2

C.4

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zgQ1rmTNrfaq
https://dl.doubtnut.com/l/_uqvkq1n7W0Oj

97. Probability can never be..........

A.O

B.1

C.05

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UVByuJ0txGpd

98. A dice is tossed once then the probability

of getting an even number or a multiple of 3

A= Wl |-

O
Z
o)
>
M

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_P7bVbyRzLQOI

99. The probability that a leap year has 53

sundays is.......

o >
NCREEN TSN | TN N
—

O
5

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MScopUfxo7DI
https://dl.doubtnut.com/l/_gOkYSDy80moV

100. Two dice are thrown once together. What

is the probability of getting a doublet?

S| N~ |

Y
Z
®)
=)
)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_gOkYSDy80moV

101.P (E) -1+ P (E) =

B.O
C.9

D. 2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EVRJJqVZHG75

102. P (E )=0.455 then P (E )=

A. 0.545
B.0.145
C.0.345

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1FPGnG1XpYGy

103. P(A")=....

A. b

B.A
C.1-P(A)

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ZykagR3fRIXo

104. Karishma and Reshma are playing chess.
The probability of winning Karishma is 0.59.

Then probability of Reshma winning the match

Al
B.0.46
C.05

D. 041

Answer:

‘ o Wiadk lh \AAA CAaliikianm



https://dl.doubtnut.com/l/_h5Rqp20jBmWL

YVOILLIL VI INAGINIE ] J

105. Vinneta said that probability of
impossible events is 1, Dhanalakshmi said that
probability of sure event is '0' and Sireesha
said that probability of any event lies in
between 0 and 1. In the above with whom will

you agree?

A. Vineetha

B. Dhanalakshmi

C.Sireesha


https://dl.doubtnut.com/l/_h5Rqp20jBmWL
https://dl.doubtnut.com/l/_rIUDUI4hUfTd

D. All the three.

Answer:

o Watch Video Solution

106. From the figure the probability of getting

blue ball is.......
-

B®®) (8) Blue Ball
®®® @) Red Bal

3
A —
5


https://dl.doubtnut.com/l/_rIUDUI4hUfTd
https://dl.doubtnut.com/l/_bLc1gYRKyAfg

@

O 0
w|ot oot w|w

Answer:

o Watch Video Solution

107. Suppose you drop a die at random on the
rectangular region shown in figure. What is

the probability that it will land inside the circle


https://dl.doubtnut.com/l/_bLc1gYRKyAfg
https://dl.doubtnut.com/l/_8PRBxhS3oylf

with diameter 1m?

=

° Watch Video Solution

108. A game of chance consists of spinning an
arrown which comes to rest pointing. At these
of the numbers 1,2,3,4,5,6,7,8,9,10 and these are
equally likely outcomes. What is the
probability that it will point at 9

L&

9?

| e |


https://dl.doubtnut.com/l/_8PRBxhS3oylf
https://dl.doubtnut.com/l/_MlR8g7z6haNm

& Wwatch Video Solution I

109. A game of chance consists of spinning an
arrown which comes to rest pointing. At these
of the numbers 1,2,3,4,5,6,7,8,9,10 and these are
equally likely outcomes. What is the
probability that it will point at an even
number?

Lo

an even number?

° Watch Video Solution



https://dl.doubtnut.com/l/_MlR8g7z6haNm
https://dl.doubtnut.com/l/_tP3HjPj5XptL
https://dl.doubtnut.com/l/_KcH55DfvrfI3

110. A game of chance consists of spinning an
arrown which comes to rest pointing. At these
of the numbers 1,2,3,4,5,6,7,8,9,10 and these are
equally likely outcomes. What is the
probability that it will point at a number
greater than 4 ?

L

a number greater than 4 ?

o Watch Video Solution



https://dl.doubtnut.com/l/_KcH55DfvrfI3

111. A game of chance consists of spinning an
arrown which comes to rest pointing. At three
of the numbers 1,2,3,4,5,6,7,8,9,10 and these are
equally likely outcomes. What is the
probability that it will point at

L

a number less than 8?

o Watch Video Solution



https://dl.doubtnut.com/l/_0T36WDAggjwh

12. It is given that in a group of 4 students
the probability of 3 students not having the
same birthday is 0.526. what is the probability

that the 3 students have the same birthday?

o Watch Video Solution

113. A kiddy bank contains 2 hundred 50 p
coins, hundred Rs. 1 coins, fifty Rs. 2 coins and
Twenty Rs. 5 coins. If it is equally likely that one

of the coins will fall out when the bank is


https://dl.doubtnut.com/l/_EykkBzWAapIT
https://dl.doubtnut.com/l/_mGHem7Sue2w9

turned upside down, what is the probability
that the coin

will be a 50 p coin.

o Watch Video Solution

14. A kiddy bank contains 2 hundred 50 p
coins, hundred Rs. 1 coins, fifty Rs. 2 coins and
Twenty Rs. 5 coins. If it is equally likely that one
of the coins will fall out when the bank is

turned upside down, what is the probability


https://dl.doubtnut.com/l/_mGHem7Sue2w9
https://dl.doubtnut.com/l/_qX5LVg3AJh0I

that the coin

will not be a Rs. 5 coin.

° Watch Video Solution

115. A lot of 40 bulbs contain 10 defective one.
One bulb is selected at random from the lot
what is the probability that. This bulb is
defective? Suppose the bulb selected in
previous case in not defective and is not

replaced. Now one bulb is selected at random.


https://dl.doubtnut.com/l/_qX5LVg3AJh0I
https://dl.doubtnut.com/l/_UEbbnr3HcXYa

from the test what is the probability that this

bulb is not defective.

O Watch Video Solution

16. IF a card is drawn from a pack the

probability that it is a king is


https://dl.doubtnut.com/l/_UEbbnr3HcXYa
https://dl.doubtnut.com/l/_m9vQLjfY9GJk

Answer:

o Watch Video Solution

117.In a lucky dip of 30 tokens, Gopi purchased
two tokens . Then the probability of getting

the first prize is


https://dl.doubtnut.com/l/_m9vQLjfY9GJk
https://dl.doubtnut.com/l/_yH8ZhCsuEnkq

Answer:

o Watch Video Solution

18. In a single thrown of two dice, the

probability of getting a total of 12 is

Al
18

B. —
6

1
3
1

9

1

D.E


https://dl.doubtnut.com/l/_yH8ZhCsuEnkq
https://dl.doubtnut.com/l/_xNCj2zPqxzO6

Answer:

o Watch Video Solution

19. In a single throw of two dice, the

probability of getting a total of 3 or 5is

%

Y
Z
®)
=)
™


https://dl.doubtnut.com/l/_xNCj2zPqxzO6
https://dl.doubtnut.com/l/_mOy7EnEDu8Gp

Answer:

o Watch Video Solution

120. The set of all possible events is called........

A. event

B. impossible

C. sample space

D. none

Answer:


https://dl.doubtnut.com/l/_mOy7EnEDu8Gp
https://dl.doubtnut.com/l/_iKP8rswh01Rf

° Watch Video Solution

121. When a dice is rolled, the probability of

getting a composite number is..........

o
Wl = |

D. none

Answer:



https://dl.doubtnut.com/l/_iKP8rswh01Rf
https://dl.doubtnut.com/l/_hMNyV5ZOHp9i

122. The event which can't happen at all is

known as............ event.

A. sure

B. Possible

C. Impossible

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hMNyV5ZOHp9i
https://dl.doubtnut.com/l/_ovQkjGIlXaDB

123. The probability of an impossible event is

A

B.O

C.4

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_ovQkjGIlXaDB
https://dl.doubtnut.com/l/_0jwBJwaxb1yR
https://dl.doubtnut.com/l/_SDi5TpN8EhT9

124. Which of the following is not a face card?

A. jack

B. Queen

C. King

D. Ace

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_SDi5TpN8EhT9

125. From a well shuffled pack of cards, a card
is drawn at random, then the probability of

getting a red jack is..........

3

B.

\)

C.

o

A=
1
6
1
2
1
D'ﬁ

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_azvYBiweIyAr

126. From a well shuffled pack of cards, a card
is drawn at random, then the probability of

getting a red jack is..........

N~ W~ N

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8rxsfhWp7Whr

127. IF an unbiased coin is tossed the

probability of getting a tail is ...

>

N = W= W W

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_62rUDHBGsfA5
https://dl.doubtnut.com/l/_fGhO16vzUykN

128. If two events have same chances to

happen, then they are called...........

A. equally likely

B. not likely

C. cards

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_fGhO16vzUykN

129. If the occurrence of one event prevents

the occurrence of another event then they

A. inclusive

B. dice

C. picking

D. mutually exclusive

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3aGC4uJEZ1gr

130. Probability of switching on a bulb is a dark

room is 0.35, then the probability of not

switching the bulb is............

A. 6511

B.6.5

C.0.65

D. none

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_g70ArKKqvkHq

131. When a coin is tossed the probability of

getting a tail or head is.......

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_KT8c3xXMgNnN
https://dl.doubtnut.com/l/_RSoZuR7xeYJH

132.P ( E)=0.65 then P (E)=.....

o Watch Video Solution

133. P(E) = 65 /100 Then find P(E)

o Watch Video Solution

134.1F P ( E)=0.82 then P (E)=.......

o Watch Video Solution



https://dl.doubtnut.com/l/_RSoZuR7xeYJH
https://dl.doubtnut.com/l/_K6z33JszTiXL
https://dl.doubtnut.com/l/_MU7zgW6qdLxg
https://dl.doubtnut.com/l/_ZMV4A1JkpJoU

135. The probability of getting a number less

than 5 when a die is rolled

° Watch Video Solution

136. P(E)= 0.555 Then find the value of P(E)

° Watch Video Solution



https://dl.doubtnut.com/l/_ZMV4A1JkpJoU
https://dl.doubtnut.com/l/_rLL2WZyYyw0k

